t63_transgeo
(TMJXCI9T4kAdBrYKFKsoHL5RFbX9yZYA9gmM)

October 27, 2020

Let v7_struct 0 : t=0 be given. Let v2_analoaf : t=0 be given. Let
[1_analoaf : 1=-0 be given. Let v2_struct_0 : t=-0 be given. Let k2_diraf : .=t
be given. Let vl_transgeo : t=>0 be given. Let vl_diraf : 1=0 be given. Let
[1_struct 0 : t=>0 be given. Assume the following.

VX0.((—v7_struct-0 X0)A((vl-diraf X0)A(Il_analoaf X0)))= (1)
(vl_transgeo XO0)

Assume the following.

VX0.((—v7_struct-0 X0)A((v2-analoaf X0)A(I1_analoaf
X0)))=((—v7_struct0 (k2_diraf X0))A((vl_diraf (k2-diraf X0)A  (2)
(I1_analoaf (k2_diraf X0))))

Assume the following.
VX0.(I1.analoaf X0)=-(I1_struct-0 X0) (3)

Assume the following.
VX0.(I11_struct-0 X0)=((v2_struct-0 X0)=(v7_struct_-0 X0)) (4)

Theorem 1

VX0.((—v7_struct_0 X0)A((v2_analoaf X0)A(I1-analoaf
X0)))=((—v2_struct 0 (k2_diraf X0))A((vl_transgeo (k2_diraf
X0)A(1_analoaf (k2_diraf X0))))



